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Questions

Ozone layer is depleting due to

Made up of different gases.

Glaciers are melting due to

Noise pollution causes.

It lies between the Tropic of cancer the Tropic of Capricon.

The area around the south pole is.

Aretic is the are around the.

The coldest month of the year in New York City is.

The coldest season in New York City lasts for.

The hottest month of the years in New York City is.

Answers Choice

A
B.
. Air pollution

. Noise pollution

C.
D.

DP» DOEP DOWr UOEP» DOTP UOEP U0EP» UOEP» DO®P» OO0

Water pollution
Soil pollution

. Lithosphere
. Hydrosphere
. Atmosphere
. Biosphere

. Soil pollution

Water pollution
Global warming
Noise pollution

Lungs problem
Hapatitis

Weakness of eyesight
High blood pressure

Equator

North Pole
Tropical Zone
South Pole

Aretic

. Antarctica

Equator

. Tropic of Capricon

East
South pole
North pole
West

January
February
November
December

1.3 months
2.3 months
3.3 months
4.3 months

June

July
November
December



